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Answer either in English or in Assamese

1. Answer the following by stating if the statement is

True or False : 1x10=10

FrafeiRe Sfenrr o1 7 wpver feimete 40 :

(a) Descartes advocates psycho-physical
parallelism.

CTFI0 29 TCAI-CHIEP TEAERME a9 |
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(2)

(b) Spinoza’s system is strictly deterministic.

oIS &l 2'e FeoReE Y@ |

(c) Leibniz sought to construct a system of
thought which would possess the certainty of
mathematics.

ARfE BER aF ~m&fe oo SR R
R anfifes fervaer emm <563 |

(d) According to Hegel, absolute is a ‘Complete
Whole’.

(LA TS, TSl G “ojef Iqere” |
(e) For Locke, thinking is the essence of soul.
7’99 Wee, o7l 274 W[ AT |

(f) According to Hume, sensations arise in the
soul from unknown causes.

BT o, MEATEHR TS @ IR [
Ty 2 |

(g) Kant says, ““There can be no doubt that all
knowledge begins with experience’”.

FID9 WO, ‘WO @A AwE qB @ @
PRI B SO 2[R 7S =377 |
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(3)

(h) Kant holds that forms of intelligence depend
on the phenomenal order.

D T @ Frd AFREYR SO R TS
@9 ST T |

(i) According to Hegel, the business of
philosophy is to know the world of nature.

@R TS, e GeT GHOIER, (R TS
T

(j) For Hegel, logic is different from philosophy.
(2o Woo, SR A 2|l 29T |

2. Answer the following questions : \ 2x5=10
Toq 2T Teq i

(a) Mention two characteristics of Descartes’
philosophy that contribute to it being called
Modern.

oRiEq W W Ere S v R =
oY 3 o1 e SRR @l |

(b) What is the meaning of Natura Naturata as
understood by Spinoza?

fRelTei2 JCEET Natura Naturatad 99 2
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(4)

(c) What is the nature of Leibnizian monads?
SRIIEE T’ T 2

(d) What features distinguish primary qualities
from secondary qualities in Locke’s
philosophy?

T e & @HRER I O G 89 &5
A1 Fefa 953 2

(e) What does Hume understand by
‘impressions’?

‘Impressions’ (J49) {1%1351 Rew & gmm?

3. Write short notes on any four of the following :
5x4=20
weTe fRCAIed R e BIfRGE o3 et ot

(a) Descartes’ method in Philosophy
TS (TRIOT afe

(b) Leibniz’s theory of pre-established harmony
widfered “F-afeoRe eRm
(c) Substances in Locke’s philosophy

'FT TS GO
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(S)

(d) Kant’s ‘forms of intuition’

T T PR
(e) ‘Being’ in Hegel’s philosophy
@R e T’

(f) Hegel's Master-Slave Dialectic

¢a(5e1] Master-Slave a4

4. Answer any four of the following : 10x4=40
werq f CPIea BIsh! 2 T i

(a) Write a note on Descartes’ doctrine regarding
relation of mind and body.

(SRl T WE (T TR TSAMCOR

R «ft o= fora |

(b) Write an essay on Spinoza’s universal
substance.
oy AR 7@y I QA 61 fordl |

(c) Elucidate Berkeley’s doctrine that ‘existence
consists in being perceived’ (esse est

percepi).
FFRMA ‘dormre I8 Rus’ TSameG! IALSIE
7 4T |
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(6)

(d) - Discuss Hume’s denial of ‘Soul-substance’.

B WNl T QeWME IR PEE,
A 4l |

(e) ‘“‘Knowledge consists of synthetic a priori
judgments.”” Discuss.

‘g RO Ste@erE e oifes 1”7
SIS 1 |

() Give an account of Hegel’'s dialectical
method.

el e 1w 3o formeter 1 |

* % Kk
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